

$$\textcircled{6} \int \frac{x^3 - 1}{x - 1} dx : \begin{array}{r} 1 \quad 0 \quad 0 \quad - \\ \quad 1 \quad 1 \\ \hline 1 \quad 1 \quad 1 \end{array}$$

$$= \int (x^2 + x + 1) dx \quad \text{or } x-1 \overline{) x^3 - 1}$$

$$= \frac{x^3}{3} + \frac{x^2}{2} + x + C$$

$$= \frac{1}{3}x^3 + \frac{1}{2}x^2 + x + C$$

dx

$$\frac{1}{2} + C$$

$$+ C$$

$$+ C$$

$$\textcircled{7} \int \sqrt{x^3 + x^2 + x} dx$$

$$= \int \sqrt{x(x^2 + x + 1)} dx$$

$$= \int \sqrt{x(x+1)^2} dx$$

$$= \int (x+1) \sqrt{x} dx$$

$$= \int (x+1) x^{\frac{1}{2}} dx$$

$$= \int (x^{\frac{3}{2}} + x^{\frac{1}{2}}) dx$$

$$= \frac{2}{5} x^{\frac{5}{2}} + \frac{2}{3} x^{\frac{3}{2}}$$

Preview from Notesale.co.uk
Page 16 of 53

$$= \frac{1}{9} \int \left(1 - \frac{3}{x^3}\right)^{\frac{1}{2}} \frac{2}{x^4} dx \quad (45) \int (x +$$

$$= \frac{1}{9} \cdot \frac{2}{3} \left(1 - \frac{3}{x^3}\right)^{\frac{3}{2}} + C$$

$$= \frac{2}{27} \left(1 - \frac{3}{x^3}\right)^{\frac{3}{2}} + C$$

$$(43) \int x(x-1)^{10} dx$$

$$u = x-1, \quad x = u+1$$

$$du = dx$$

$$= \int (u+1)u^{10} du$$

$$= \int (u^{11} + u^{10}) du$$

$$= \frac{u^{12}}{12} + \frac{u^{11}}{11} + C$$

$$= \frac{1}{12} (x-1)^{12} + \frac{1}{11} (x-1)^{11} + C$$

Preview from Notesale.co.uk
Page 24 of 53

$$(6) \int \frac{(\sin^{-1} x)^2 dx}{\sqrt{1-x^2}}$$

$$u = \sin^{-1} x$$

$$du = \frac{dx}{\sqrt{1-x^2}}$$

$$= \int (\sin^{-1} x)^2 \frac{dx}{\sqrt{1-x^2}}$$

$$= \frac{(\sin^{-1} x)^3}{3} + C$$

$$= 6 \int (2$$

$$= 6 \cdot (2$$

$$= \frac{-6}{2 + \tan$$

definite I
Exercises

$$(3) a) \int_0^{\frac{\pi}{4}}$$

$$(6) \int \frac{(2 + \tan^3 x) \sec^2 x}{(2 + \tan^3 x)^2} dx$$

$$u = 2 + \tan^3 x$$

$$u = 2 + (\tan x)^3$$

$$du = 3(\tan x)^2 \sec^2 x dx$$

$$du = 3 \tan^2 x \sec^2 x dx$$

$$= (+$$

$$= \frac{1}{2} ($$

$$= \frac{1}{2}$$

Integrals yielding logarithmic functions

$$\int u^{-1} du = \int \frac{1}{u} du = \int \frac{du}{u} = \ln$$

$$\left. \begin{array}{l} \text{H55} \\ \text{p. 324} \end{array} \right\} \int \frac{dx}{x \ln x} : u = \ln x \quad du = \frac{dx}{x}$$

$$= \ln(\ln x) + C$$

$$\left. \begin{array}{l} \text{H57} \\ \text{p. 324} \end{array} \right\} \int \frac{dx}{1 + e^{-x}}$$

$$= \int \frac{dx}{1 + \frac{1}{e^{-x}}}$$

$$= \int \frac{dx}{\frac{e^{-x} + 1}{e^{-x}}}$$

$$\left. \begin{array}{l} \text{H65} \\ \text{p. 334} \end{array} \right\}$$

$$= \ln$$

Preview from Notesale.co.uk
Page 32 of 53

Integrals of Exponential Functions

$$1. \int e^u du = e^u + C$$

$$2. \int a^u du = \frac{a^u}{\ln a} + C$$

Exercise 7.1, p. 409

$$\begin{aligned} (9) \int_{\ln 2}^{\ln 3} e^x dx &: u = x \\ &du = dx \\ &= e^x \Big|_{\ln 2}^{\ln 3} : e^{\ln x} = x \\ &= e^{\ln 3} - e^{\ln 2} \\ &= 3 - 2 \\ &= 1 \end{aligned}$$

$$\begin{aligned} (13) \int_{\ln 4}^{\ln 9} e^{\frac{x}{2}} dx &: u = \frac{x}{2} \\ &du = \frac{dx}{2} \\ &= 2 \int_{\ln 4}^{\ln 9} e^{\frac{x}{2}} \frac{dx}{2} \\ &= 2 \left[e^{\frac{x}{2}} \right]_{\ln 4}^{\ln 9} \\ &= 2 \left[e^{\frac{\ln 9}{2}} - e^{\frac{\ln 4}{2}} \right] \end{aligned}$$

$$\begin{aligned} (15) \int_{\sqrt{e}}^{\sqrt{e}} e^{\frac{r}{2\sqrt{r}}} dr &: u = \frac{r}{2\sqrt{r}} \\ &du = \frac{dr}{2\sqrt{r}} \\ &= 2 \int_{\sqrt{e}}^{\sqrt{e}} e^{\frac{r}{2\sqrt{r}}} \frac{dr}{2\sqrt{r}} \\ &= 2 e^{\frac{r}{2\sqrt{r}}} + C \end{aligned}$$

Preview from Notesale.co.uk
Page 34 of 53

$$\frac{\#17}{P.375} \int_0^{\frac{\pi}{4}} \sin 2x \, dx : u = 2x$$

$$du = 2dx$$

$$= \frac{1}{2} \int_0^{\frac{\pi}{4}} \sin 2x \cdot 2 \, dx$$

$$= \frac{1}{2} (-\cos 2x) \Big|_0^{\frac{\pi}{4}}$$

$$= -\frac{1}{2} \cos 2x \Big|_0^{\frac{\pi}{4}}$$

$$= -\frac{1}{2} \left[\cos \frac{\pi}{2} - \cos 0 \right]$$

$$= -\frac{1}{2} \left[\frac{1}{\sqrt{2}} - 1 \right]$$

$$= -\frac{1}{2} \left[\frac{1}{\sqrt{2}} - 1 \right]$$

$$= \frac{\sqrt{2} - 1}{2\sqrt{2}}$$



$$\frac{\#18}{P.375} \int_{\frac{\pi}{2}}^{\pi} \frac{\sin 2x}{2 \sin x} \, dx$$

$$= \int_{\frac{\pi}{2}}^{\pi} \frac{2 \sin x \cos x}{2 \sin x} \, dx$$

$$= \int_{\frac{\pi}{2}}^{\pi} \cos x \, dx$$

$$= \sin x \Big|_{\frac{\pi}{2}}^{\pi}$$

$$= \sin \pi - \sin \frac{\pi}{2}$$

$$= 0 - 1$$

$$= -1$$

Preview from Notesale.co.uk
Page 42 of 53

$$= - \int (\cos x)^3 (-\sin x \, dx) - (-) \int (\cos x)^5 (-\sin x \, dx)$$

$$u = \cos x, \quad du = -\sin x \, dx$$

$$= - \frac{(\cos x)^4}{4} + \frac{(\cos x)^6}{6} + C$$

$$= -\frac{1}{4} \cos^4 x + \frac{1}{6} \cos^6 x + C$$

→ 0
40)

and soln:

$$= \int (\cos^2 x) \sin^3 x \cos x \, dx$$

$$= \int (1 - \sin^2 x) \sin^3 x \cos x \, dx$$

$$= \int \sin^3 x \cos x \, dx - \int \sin^5 x \cos x \, dx$$

$$= \int (\sin x)^3 \cos x \, dx - \int (\sin x)^5 \cos x \, dx$$

$$u = \sin x, \quad du = \cos x \, dx$$

$$= \frac{(\sin x)^4}{4} - \frac{(\sin x)^6}{6} + C$$

$$= \frac{1}{4} \sin^4 x - \frac{1}{6} \sin^6 x + C$$

Preview from Notesale.co.uk
Page 48 of 53